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1. In which year Sundarban in West Bengal
has been declared as a Heritage Site?

Ans: Correct answer option has not been given.
All will get full marks even if not attempted.

2. Which state has recently declared and
celebrated a particular day as ‘Desh Nayak Divas’?

Ans: West Bengal

3. Who has won the India’s Science Award,
Bhatnagar Puroshkar for Chemistry in 20207
Ans: Prof. Surjendu Dutta

4. Recently in which state of India, 300 years
old Sati Stone was unearthed?
Ans: Tamil Nadu

5. In 1943, Subhas Chandra Bose formed the
Provisional Government of Free India at

Ans: Singapore
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1. T A ARG THEE G ‘@fRoe
ARG’ (ARl 41l 2312

Ans: Correct answer option has not been given.
All will get full marks even if not attempted.

2. (@I ey Areifes W@ b We M
‘oIS MR e Qg F1 SRR e
Ans: #5535

3. 2020 Al AR *McE (< el Fea @ees
Ans: 2T R W€

4. M=feT Tolte CITeq@d @« A0E 300
IREF B ol 2BV AN (910 ?
Ans: @Iﬁ?ﬂ@

5. 1943 a1 Rferie @I B Jernm @
A FE ©e SR (Provisional) FEH 919+
PCa 2

Ans: Pt
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6. Who was the Director General of National
Government in Tamluk?

Ans: Satish Chandra Samanta

7. The concept of Welfare State is included in
the Constitution of India in the
Ans: Directive Principles of State Policy

8. About 80% of the coal reserves of India lie
in the
Ans: Damodar Valley

9. Which Indian actor was recently honoured
with the Crystal Award of the World Economic
Forum?

Ans: Deepika Padukone

10. Buddhist religious scripture Tripitaka was
written in
Ans: Pali

6. S GIOR AIRICT NI (F o eiel 2
Ans: o 5% ANE

7. IO AG A7 smon R
(I SRR TEGE 4! IR ?
Ans: FBR ez fogers Sifs

8. SIACe HWS T 80% (FIAR Afe® i1z ?
Ans: TGN SRR

9, 7wfe (9 el Sferel IEEifos
BANRIT @RI 51 SHEAS” 7S FCA02 2
Ans: A9 AG@E

10. (@m «5(ag ‘a5 @ ffsice ez 2
Ans: #lif&



11. Using duplicate application to collect user
password is called

Ans: Phishing

12. Who wrote the play ‘Mudrarakshasha’?
Ans: Vishakhdutta

13. Who was the first recipient of Padma
Vibhushan?
Ans: Satyandra Nath Bose

14. Bhaba Atomic Research Center is situated
in which state?
Ans: Maharashtra

15. The tenure of each Member of Legislative
Council is
Ans: 6 years

(S)

RBSIW(P)/20

11. TG0 ShfaE e 927 6@ JIRTIEE
ARSTNE fefa I F 741 27 2
Ans: Phishing

12.
Ans: fR¥iiime

13. 2125 ‘Aufee’ TR A9 (& e 2
Ans: ACSTHY (I

14. SR SHGRRE oI5 GToIF (@I A1y SIafEe 2
Ans:

15. R4 A3 AR VSIS 9 2
Ans: 6 927
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16. Padmashri award winner Mouma Das is
associated with which field of Sports?

Ans: Table Tennis

17. The ‘Pegasus’ spyware, allegedly used for
surveillance of phones recently, was developed
by
Ans: Israel

18. Who became the first Indian woman to win
two Olympic medals?

Ans: P.V. Sindhu

19. INDRA 2021 was scheduled to be held at
Ans: Russia

20. Indian Oil Corporation’s first ‘Green
Hydrogen’ plant will be built at
Ans: Mathura Refinery

16. @& 7T G I 7 @ IR A
IG?
Ans: (53& (Bfe=

17. Ar2fSS FICE I TS Sy AR
TNF AL L@ @ Sfeisl Sz, @I
R M0 &S 2R(R ?

Ans: TERIESA

18. (Il SO e ALY SRAAF (ST
ui < SR PR ?
Ans: f7L.fe. Pra

19. ‘INDRA 2021 FCHE(G (A SRe 2671
7
Ans: Fifr

20. fCAM e FCAEEE AL ‘Green
Hydrogen’ I (IR Zifore 772
Ans: NI GO



21. Torr is the Unit of
Ans: Pressure

22. Which temperature in Celsius scale
represents Absolute Zero Temperature?

Ans: —273-15°C

23. What is ‘Fire Ice’?
Ans: Methane Hydrate

24. If height of Mercury in a Barometer
decreases rapidly it denotes

Ans: chances of storm

25. Who of the following was named ‘Jagat
Seth’ by East India Company?
Ans: Manikchand
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21. Torr & Unit?
Ans: B9l (Pressure)

22. CREIPRIN (RETE ARG @i S
‘Absolute Zero’ SNl AT (IR T 2
Ans: —273-15°C

23. ‘Fire Ice’ 36108 e @ @RI 232
Ans: T30+ 2306

24, I FICRRGIE ARMTE w© ZP 23, O
©iF 77l FEkie @ S 9 e

Ans: 0TI AGRK

25, fagfeie @i wfe 295 3w @i q@
Tl (¥ ANIES SR ?
Ans: WifSs5w

[Please Turn Over]



RBSIW(P)/20

26. Who Named Kolkata as ‘Alinagar’?
Ans: Siraj Ud Duolla

27. Whose Pen-name was ‘Dhumketu’?
Ans: Kaji Nazrul Islam

28. During whose Governorship each Police
Station of British India started functioning under
Sub Inspector of Police?

Ans: Lord Cornwallis

29. 4o0’clock rain is prevalent in
Ans: Amazon and Congo basin

30. Which of the following is the longest river?
Ans: Brahmaputra

26. FEFOIE BTN TNFA (F AR ?
Ans: BTe S Gare

27. ‘G T 2 o 2
Ans: & TezEe TN

28. (@ STedd (TIEETE SN &6 =N
SIS 2T A A ST S AT

2G| ©WFE 37 ?
Ans: TG e

29. 4 934 q@ (40’clock rain) SIS @ ie
B CS “ihe A 2
Ans: SIS € Fc5 SRR

30. SeEIe @ Adon e
Ans: =G



31. Tungabhadra is a tributary of
Ans: Krishna river

32. On which river Tehri Dam has been built?
Ans: Ganges

33. Which state of India has highest percentage
of forest area?

Ans: Mizoram

34. Which state of India is the first state to start
Coffee plantation?
Ans: Karnataka

35. Which industry is known as ‘Sunrise
Industry’?

Ans: Computer Industry
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31. greul (FI TIF ST 2
Ans: FI Tl

32. cozfa StfS @ aRIT Tolg SR 2
Ans: 931

33, SIS (T 0T ITS R *oF1 2ifwliel
TN 2
Ans: s

34. OISR (I ST AL LS FIF HIES AeTel
737
Ans: 35F

35. SRR 3@y Iece MRS @ e
G 2

Ans: IICoF 5
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36. Which National Highway of India is the
longest?
Ans: NH 44

37. Which one of the following is a Tax-free
Sea port in India?

Ans: Mumbai

38. Which one of the following is not a Dwarf
Planet?

Ans: Neptune

39. Whichofthe following is the world’s oldest
Capital City?
Ans: Damascus

40. The National Police Academy at Hyderabad
isnamed after which of the following personalities?
Ans: Sardar Vallabhbhai Patel

36. OIS TSN GO TG (B 2
Ans: NH 44

37. (e @A ored W3 wE[e TV ?
Ans: JH12

38. (e @0 90 R 792
Ans: (171h

39. fatsres ey 2R AlbiTes A ==
@G 2

Ans: A

40. TRWRIWME oy e dffrd (T
(National Police Academy) I IG3 «¥If&® 2

Ans: MG o3 276



(11)

41. Whois the highest Law Officer in any state
of India?

Ans: Advocate General

42. Whosebiography is ‘Romancing with life’?
Ans: Dev Anand

43. Sportsperson Deepika Kumari, who
recently reclaims world no. 1 ranking is associated
with

Ans: Archery

44. In human body blood does not clot in
Ans: Capillary

45. Which of the following is not a bacteria
related disease?
Ans: Influenza
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41. ST @ @I ST A N2 K2
(P! (7
Ans: TGS (GICT6

42. 7GR MW ‘Romancing with life’ 2
Ans: (M9 9

43, reifs fAeed 9% 999 (ARG A&l Fus
(I AR T TS 2
Ans: foz™ifer

44, T (@I S T9 TG - 1 2
Ans: (FE

45. e @0 FRGRAGHNS SR w72
Ans: FEEG!
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46. The Pompus grasslands are found in which
continent?

Ans: South America

47. Which of the following is a browser to
access Dark Web?

Ans: Tor

48. The process of cell division in Amoeba is
termed as

Ans: Mitosis

49. The Hindalco Unit at Muri is located on the
bank of which river?
Ans: Subarnarekha

50. Which of the following is known as Mixed
gland?
Ans: Pancreas

(12)

46. o™ werefi (P WM (HCS Aledl
R 2
Ans: VR SICER

47. W =lTRRe @ Browser {63 7125 Dark Web
access 41 T ?

Ans: 59

48. AR MEI @R Rees e T
2
Ans: SIBGIRE

49. %3 e FIER (@i A7 Sia w1af7e 2
Ans: (a2l

50. e @b Nuafz g =
Ans: A



51. Asum was put atsimple interest at a certain
rate for 3 years. Had it been put at 1% higher rate;
it would have fetched Rs. 5,100 more. The sum
is

Ans: Rs. 1,70,000

52. A sum, at the compound rate of interest,
becomes 2% times in 6 years. The same sum
becomes how many times in 18 years?

. 125

A
ns: —¢

53. A began a business with Rs. 2,250 and was
joined afterwards by B with Rs. 2,700. If the
profits at the end of the year were divided in the
ratio of 2 : 1, after how much time B joined the
business?

Ans: 7 months

54. The length of a hall is 5Sm more than its
breadth. If the area of the floor of the hall is 84 m?,
what are the length and breadth of the hall?

Ans: 12mand 7m

(13) RBSIW(P)/20

51. CRICI BIel 70w 9 3 Iead Gy Rl vl
= | T (2 92 e Bel 1% @i g [fecs)
3 7O, 9@ 5,100 GF @ oSl @9 | ST
(Principal) Tl o e e
Ans: 1,70,000 Bt

52. GG wAfziel B, 5T 2 o 6 T2
215 %6l T |\ €8 9352 AT B! 18 T20a Fo%e 2 7

125
Ans: —=
ns: g

53. A; 2,250 Bl I @ AP wF A |
AATOPICT B, 2,700 51 @ T I& =7 | I
IR I T 221 SIS A 8 B-47 & Sl
T, O[@ A SF I TS N A B I JF
RIRe 2
Ans: 7

54, @3 ZNET D AE (A ST @R W™
wNED (Faee 8417 =, @ TWNEE 7Y @
A FO?

Ans: 12We7f%
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55. Shyam borrowed some money from his
friend at simple interest of 6% per annum. He
returned his friend Rs. 15,600. After how much
time did Shyam return the money if he borrowed
Rs. 12,0007

Ans: 5 years

56. The ratio of market prices of wheat and
paddy is 2 : 3 and the ratio of quantities consumed
inafamily is 5 : 4. Find the ratio of expenditure on
wheat and paddy.

Ans: 5:6

57. A garrison of 500 men had provisions for
24 days. However, a reinforcement of 300 men
arrived. The food will now last for

Ans: 15 days

58. Simplify :
(@ +1125 - \/567) (\/500 ++/245 + 9ﬁ)

Ans: 878

(14)

55. #jIN ©IF 9T I D2 (A By Gl T2
6% AT A QI (T | (1 91K IHCT AW € e M
15,600 5IF (Fr® (0 | I *71 12,000 Bi=t 419 e
Y, @ (T FOMEF & B! 419 it 2

Ans: 5929

56. 1% S LI AR SIS 2 : 3 9% G0
AR 915 @ QT JIRIEE TS 5 : 4 | O=Ce
ARG 25 @ QT Gy UGS TGS T ?
Ans: 5:6

57. @6 @RS 500 T« G 24 fEE
T SN0 | SR 300 T Gl BoifFS 2, 83 I9M
FOMEF (SISl 7SI 2 2

Ans: 15 fa=

58. AFETAS I ¢
(V20 + 1125 - 567) (/500 + 245 + 94/7)

Ans: 878



59. M men agreed to purchase an article for
Rs. R. If 4 men drop out, how much more (in Rs.)
will each have to contribute to purchase the article
at the same price?

4R

AN

60. Father is three times as old as his son. After
twelve years, his age will be twice as that of the age
of his son. What is the present age of the son?

Ans: 12 years

61. The average of three numbers is 80. The
first number is 10 more than twice the second and
the second number is 10 less than thrice the third.
What is the lowest number?

Ans: 26

62. If %th of a road is 45 km, what is the

length of %th of that road?

Ans: 60 km

(15)

RBSIW(P)/20

59. M 3 ¥ G35 71y R G fbece e
27 | AW I S 4 & T 5 AR, OF AR
93 gV g A0 0o @ BiF (@ fite
[

4R

AN

60. Toreia 1 S{0a9 I fomaed | 12 I3 9
T I F© ?
Ans: 12 924

61. fo=% FF T 801 2w WG faow
IR Faeld (At 10 & @3 @S 1afo o
A FoTE (A 10 T | AWAGE @5 A=A
IO ?

Ans: 26

62. I 93T == % weH 45 fHf 27, o9 63

BICHITES % SRaERIEOH
Ans: 60
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63. Iftime taken to travel between two stations
has to be reduced by 20%, then by what per cent
would the speed of the train has to be increased?

Ans: 25%

64. If a person sells an article at a profit of 5%,
he gains Rs. 15 more than if he sells it at a loss of
5%. What is the cost price of the article?

Ans: Rs. 150

65. A tea seller blends Tea A worth
Rs. 250 per kg with Tea B worth Rs. 150 per kg in
a ratio of 2 : 5 and sells the mixed blend at
Rs.200 per kg. What will be his percentage of profit?

Ans: 12%

66. If the ratio of principal and simple interest
at4% per annum for a specific timeis 5 : 2, find the
number of years for which the principal was
deposited.

Ans: 10 years

(16)

63. M 76 EGHTR W& CRICTIR 7 20% A
FACO R, O G GeId oifocael T ol i
PO A2
Ans: 25%

64. 93 Ife 9 7 5% e [Fw FAE |
«re o 5% =fece aw s @ 9L (olted, ©ia
(A 15 BIFl @] (210 | G063 ety 0 2

Ans: 150 Gi=!

65. « BI-RtEel 250 TFl/Fe wE@E A B,
150 Bisl/(fe (g B Bl-93 05 2 : 5 SAAice
CTANCETA | 93917 @2 TR BT 200 Bi<l/ (e wegt afn
Ans: 12%

66. MM 4% AT s @3 [ A S @
R SRS 5 2 2 7, O ST 51116 0 A Gl
s a1 zafes 2

Ans: 10 3=d



(17)

67. A mixture of dettol and water contains 80%
of water. What volume of dettol is to be added to
60 litres of this mixture, so that the new mixture
contains 75% of water?

Ans: 4 litres

68. If a seller sold two sarees at Rs. 400 each
and made a profit of 20% on the first and a loss of
20% on the second, what is his total profit or loss
on the whole?

Ans: 4% loss

69. At what rate of compound interest per
annum, the amount of Rs. 10,000 for 2 years is
Rs. 12,100?

Ans: 10%

70. Which least number is divisible by 12, 15,
20 and 257?

Ans: 300

71. HCF of two numbers is 32 and their LCM
is 1760. What is the smaller number?

Ans: 160
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67. O3 (©oe 8 TETd e 80% T = |
60 foBiar @3 St o1 (Thel I, @3 T
75% &1 QI 2

Ans: 4 6@

68. ufo *Nfe afel 400 Siom fF s, 9
ool gem #felre 20% e ¢ Tei N
20% S FFIF T | ANfAFSIE ©iF F© e A
KIEGR
Ans: 4% “Ffe 27|

69. AE v F© A@F W, 10,000 T
2 %@ 12,100 BiF 2@ 2
Ans: 10%

70. 12,15, 20 @38 25 @i fKerey sFaes 7=21f6
O ?
Ans: 300

71. 70 FRTIF 2L, G 7)., TG 32 938
1760 2&1, Fued AT T 2
Ans: 160
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72 A and B can do a piece of work in 10 and
15 days respectively. A alone did the work for
4 days and then B did it for 5 days. Thereafter C did
the remaining work in 8 days. How long will they
take to complete the work together?

Ans: 5 days

73. 45 men can produce 10000 electric bulbs in
12 daysin aco-operative concern. The concern got
an order to produce 10000 electric bulbs in 9 days.
How many more men would be employed to meet
the order?

Ans: 15

74. A man standing on the platform finds that
an Express train passes himin 15 secs. If the speed
of the train is 60 km/hr, what is the length of the
train?

Ans: 250 meters

75. Find the fourth proportional of the following
numbers:

11
3°6°
18

1 ?
1
8

.

O =

Ans:

(18)

72. G0 6 A @R B I 10 € 15 e o3
FCE | A 2T G5! 4 el 19 219 B 5 el Fleio A |
SRS B0 C 8 e (17 T3 | foree @ta T4
FIEO FOM T TO ?

Ans: 5 fa=

73. @30 AN IR 45 T e 12 T
100005 3EFLF I 2ge Fh0e I 19121 9 fuee
100001 I (ofaa IS =1 | SNKe T Fe Fose
(% O el Fa0e 203, e e FE’ T
JFAC9 ?

Ans: 15

74. ATTC MLE 45 e (e @ 96 GHCAA
GISIE 15 IS Sfod ™ ¢ | 7t 972 Gaod
sifSt=91 60 5l 9% 27, o3 Gl ey 2
Ans: 250 G

75. faaffis saike it ved waiii Fo2

9

.

11
376
1

18

O =

Ans:



76. Rashik walks 20m North. Then he turns
right and walks 30 m. Then he turns right and walks
35m. Then he turns left and walks 15m. Then he
again turns left and walks 15 m. In which direction
and how many meters away is he from his original
position?

Ans: 45m East

77. CMM, EOO, GQQ, __?

? ,KUU
Ans: ISS

78. 12,25, 37,49, ?
Ans: 60

79. If ACID is written as 1C3D, PAMPER is
written as PIMP2R, then how will BOMBAY be
written?

Ans: B4AMB1Y

80. How many two digit prime numbers are
there?

Ans: 21

(19)
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76. 7B Tex e 20 o EG a1 @I
TN 9@ (1 30 SOE 2 | 937217 ORF Ol T
03 35 fSlG T | 93919 I e g3 15 [Wo A |
Sl SR A e e 15 fio= o | 76 a8
IR G I (AT o YT AR & E iz ?

Ans: 45 f5E o d

77. CMM, EOO, GQQ, _?

, KUU
Ans: ISS

78. 12,25, 37,49, ?
Ans: 60

79. I ACID-9@3 #Akwfes fafer 103D,
PAMPER-93 PIMP2R %3, (& BOMBAY-43
Afos Bl 32

Ans: B4MB1Y

80. b SIFT Foafel GNfers 32 =iz ?
Ans: 21
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81. If 27th September in a year is Saturday,
then what day will be 27th October in the same
year?

Ans: Monday

82. If ‘+’ means ‘x’, ‘+” means ‘-, ‘X’ means
‘+” and ‘~’ means ‘+’, then what is the value of
(2+427-3+2%x3+2)?
Ans: 37

83. Six friends, namely, A, B, C, D, E, F are
sitting on abench. E and F are sitting in the middle.
A and B are sitting in the furthest corner. If C is
sitting just left to A, then who is sitting just right
to B?

Ans: D

84. In a code language 724 means °‘leaf is
green’, 371 means ‘green and blue’ and 438 means
‘sky is blue’. Then which numbers represent ‘leaf’
and ‘is’?

Ans: 2and 4

85. Fill in the blanks with appropriate set of
letters:

_a_bca_dabba_bac_c_a
Ans: acbdab

(20)

81. I @IEN IREF 27 GRTHE *@F =T,
(3 €3 IREF3 27 I (@I I Q2

Ans: CNIIF

82. M+ WA X7, + WA =, X AEA “+,
OO T, OE@ (2427 -3+ 2x3+2)-9F
T el et
Ans: 37

83. A,B,C,D,E @3 F 9 21 9% 4 (028 I
oCz | E @3 F TR 07 Stz | A 9% B 92 2itS
TG wiE| T C, A9 G AN 6T A,
©IECE B-3 G TN (F 36T S@ 2

Ans: D

84. O3HARF TSI 724 A ‘leafis green’,
3719 ‘green and blue’ @R 438 3 ‘sky is blue’
20+, ‘leaf” @R “is” (Pl AR RIS (SIRACH RS 2

Ans: 29R 4

85. 3% e e *=rgie e sje e ¢
_a_bca_dabba_bac_c_a
Ans: acbdab



86. G’s father is X’s son. P is G’s uncle. Y is
X’s brother. Then how is Y related to P?
Ans: Uncle

87 72124 | 6
96 | 16 | 12
108| ? | 18

Ans: 12

88. Explain the following relationship with the
help of Venn diagram:

Singer, Musician, Doctor

Ans: @

(21)
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86. G -4 I &7 X~4< 79 | P 251 G- I |
Y 251 X-99 ©i3 | O Y, P31 (@ 22
Ans: I

87 72124 | 6
96 | 16 | 12
108 ? | 18

Ans: 12

88. (o TRISIE AR e A0 i
0l 2
AT, FRANCFIF, TG

Ans: @
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89. If ‘X$Y’ means ‘Xis fatherof Y’; ‘X#Y’
means ‘X is mother of Y’; ‘XxY’ means ‘X is
sister of Y’, then how is D related to N in
N#AS$BxD?

Ans: Can not be determined

90. ABCDEFGHIJKLMNOPQRST
UVWXYZ
Which letter in this alphabet is the eighth
letter to the right of the letter which is tenth letter
to the left of the last but one letter of the alphabet?
Ans: W

91. How many pairs of letters are there in the
word ‘CASTRAPHONE’ which have as' many
letters between them in the word as in the alphabet?

Ans: 5

92. If the following words are arranged in
alphabetical order which word will come last?

1. Abandon 2. Actuate 3. Accumulate
4. Acquit 5. Achieve

Ans: Actuate

(22)

89. M ‘X$Y’ T ‘X, Y-9F I[I1"; ‘X # Y’ S
X, Y-9 I XX Y’ W X, Y-99 @ =, O
N#A $ B x D-(8 D Feitd N-93 7 A1 Fe ?

Ans: o7 3511 919 7

90. ABCDEFGHIJKLMNOPQRST
UVWXYZ

Tl I (@ S I IS
SERCEE SNCSR SRR MG WS RIS SRR
TIWCE BB Bl SR ?
Ans: W

91. ‘CASTRAPHONE’ *{b0® F© (GIC! o4
(@ AN S TOST SRS B2 I I0E wonfe

O (2 2
Ans: 5

92. BT * et Fef SRR AlSIE @
*A (5 (R SR 2

1. Abandon 2. Actuate 3. Accumulate
4. Acquit 5. Achieve

Ans: Actuate



(23)

93. How many 4’s are there preceded by 7 but
not followed by 3 in the following number series?
5932174269746132874
138325674395820187463

Ans: Four

94, If 1+4=9, 2+8=18, 3+6=15, then the
value of 7+8 =7
Ans: 23

95. From the given alternative words, select
the word which cannot be formed using the letters
of the given word:

PHOTOSYNTHETIC
Ans: PRONE

96. Mohini is taller than Nita but not shorter
than Sarita. Sarita and Malini are of the same
height. Mohini is shorter than Hema. Among
them, who is the second tallest?

Ans: Mohini
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93, Ha AT AFACS Foul 4 R T s
7 Stz 5 213 3 32

5932174269746132874

138325674395820187463

Ans: BIF

94, I 1+4=9, 2+8=18, 3+6=15, O
7 + 8-99 W F9 ?

Ans: 23

95, TI6d RG] 7Yy &I
PHOTOSYNTHETIC *64 =4 Q4! cofd 41
AT 3 2
Ans: PRONE

96. (N2 ToI (2 o171 T8 ATOR (AT &6
T3, el 9 N Sooo! A | (AT (@4 (AT
& | THeT qmd W fTow & e

Ans: @Tﬁﬁ(
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97. If a mirror is placed on the line MN, then 97. I MN (@21 99199 @5 7ofel Y, O
which of the answer figures is the right image of Ao @ 20 owe kg dfekg 2
the given figure? M
M
N
N
Ans:

Ans:




98. How many triangles are there in the given
figure?

Ans: 10

99. Ifnumber?2isinbottom, then which number
is on top on a dice?

9 &

Ans: 6

100. Choose the alternative which closely
resembles the water-image of the given word:

NUCLEAR

Ans: MNCTFEVE

(25) RBSIW(P)/20

98. Twa 2fice Foul fage wiz?

Ans: 10

99, 3 2 A T AN O @I AN =@
TAE AT ?

Ans: 6

100. T3 @0 Are=iwe Faves Tz aifefs 2
NUCLEAR

Ans: MNCTFEVE



